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GENERAL STUDIES

PAPER-I
1. Who was the first Speaker of first Lok Sabha ?
(a) G.V.Mawalankar (b) M.A. Ayyangar
(¢)  Hukum Singh (d) G.S. Dhillon
2. Khalsa Panth was established by
(a) Kabir (b) Nanak
(c)  Guru Govind Singh (d)  Guru Tegh Bahadur
3.  Whose name is associated with the Peshawar Incident of 1930 ?
(a) Mahatma Gandhi (b) Bhagat Singh
(c)  Chandra Singh Garhwali (d) Chandra Shekhar Azad

4. Before independence, who was the first member from Kumaon Province in the Provincial
Council of the United Province ?

(a)  Badri Dutt Pandey (b) Govind Ballabh Pant
(¢) Tara Dutt Gairola (d) Mukandi Lal
5. When did the ‘Dandi March’ begin ?
(a) 26 January, 1930 (b) 12 March, 1930
(c) 10 March, 1931 (d) 10 March, 1932

6.  In which one of the following prisons Pt. Jawaharlal Nehru had written his famous book
“Discovery of India” ?
(a)  Alipur Central Jail (b)  Yarvada Jail
(¢) Naini Central Jail (d)  Ahmedabad Fort Jail

7. Who had given the thought of a separate nation for the Muslims ?
(a) Mohammed Ali Jinnah (b)  Sir Syed Ahmad Khan
(c)  Sir Mohammed Igbal (d) Liyagat Ali Khan

8. Match list-I with list-Il and select the correct answer from the codes given below :
List-I (Monument) List-II (Place)

A.  Gateway of India I.  Kolkata
B.  Victoria Memorial 2. Hyderabad
C. India Gate 3. New Delhi
D.  Char Minar 4. Mumbai
Codes
A B € D
(a) 4 2 1 3
(b) 4 1 3 2
(c) 2 3 + l
(d) 1 4 2 3
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12.

14.

15:

16.

17.

18.

Who said “Swaraj is my birth right” ?

(a) Mahatma Gandhi (b)  Subhash Chandra Bose
(c)  Lala Lajpat Rai (d) Bal Gangadhar Tilak
Which of the following pairs is not correctly matched ?

(a)  Ghadar Party — Lala Lajpat Rai

(b)  Frontier Gandhi — Khan Abdul Ghaffar

(¢) Indian National Army -  Subhash Chandra Bose

(d)  First President of India — Dr. Rajendra Prasad

Tehri State became a district of Uttar Pradesh on

(a) 1™ August, 1949 (b) 15" August, 1947

(c) 26" January, 1950 (d) 1* December, 1949

Which, among the following nutrients, is taken up by plants in least quantity ?
. : ®)

(a) Calcium (b)  Potassium

() Zinc (d)  Sulphur

The largest wheat producing country in the world js
(a)  United States of America (b) India
(c) China _ (d) Canada

‘Mandua’ (Koda) grain in Uttarakhand is being exported mostly fo which country ?

(a)  United States of America (b)  Great Britain

(¢)  Singapore (d) Japan

Which district of Uttarakhand has maximum number of Khadi industries ?
(a) Nainital (b) Champawat

(¢) Udham Singh Nagar (d) Chamoli

Former President Dr. A.P.J. Kalam has accepted Visiting Professorship of which University
of Uttarakhand ?

(a)  Govind Ballabh Pant University of Agriculture & Technology, Pant Nagar.

(b) Indian Institute of Technology, Roorkee.

(c)  H.N.B. Garhwal University, Srinagar.

(d) Kumaon University, Nainital.

The First Indian lady to climb on Everest top is
(a)  Bachhendri Pal (b) Dikki Dolma
(c)  Santosh Yadav (d) P.T. Usha

The ‘Blue Revolution’ is associated with
(a)  Agriculture (b) Iron and Steel Industry
(c) Irrigation (d) Fishing
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KAN-01 5 SET-A



19.  The minimum distance between the Sun and the Earth occurs on
(a) 22" December (b) 21" June
(c) 22" September (d) 3" January

20.  In India ‘National Science Day’ is celebrated on
(a) 28" February (b) 26" January
(¢) 5" June (d) 15" August

21.  In which part of Uttarakhand are artesian wells found ?
(a)  Bhabhar (b) Tarai
(c)  Shivalik Hills (d) None of the above

22.  Fish generally breathe through
(a) Skin (b) Nose
(c) Gills (d) Fins

23.  Which, among the following places, will have maximum day length in the month of June ?
(a) Hyderabad (b) Chennai
(c) Bhopal _ (d) Delhi

24. The Vitamin available from Sun rays is
(a) Vitamin-A (b) Vitamin-B
(¢) Vitamin-C (d) Vitamin-D

25.  Poly-house is used for
(a)  Growing plants (b) Storing grain
(c)  Storing vegetables (d) None of the above

26. The slow growth of the human body is caused due to the deficiency of which of the
following ?
(a) Fats (b)  Vitamins
(c) Proteins (d) None of the above

27. What is dry ice ?
(a) Solid Carbon dioxide (b) Solid Hydrogen
(¢c) Solid Oxygen (d) Solid Ammonia

28.  Which, among the following diseases, is caused by bacteria ?
(a) Tuberculosis (b) Influenza

(c) Polio (d) Malaria
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(a) 22 TEE=R (b) 215H
(c) 22 fgamr (d) 3
20, W § T fae e HA S €
(a) 28 FTE B (b) 26 ST
() SSEH (d) 15 TR H
2. SERTETE % R AT H Hae g FO I 6 € 2
(1) WA (b) TEH
(c) Torancrs Teiteai A (d) s T W I AR
2. Toled § A A BT @
(a) TIETERI (b) TR EW
(¢) TIATREIERT (d) TEm
23. Gﬁ%ﬁ,ﬁﬂwﬁﬁﬁaﬁmﬁqaﬁmﬁrmﬁ?
(a) eEUER (b) T=e
(c) Wt (d) feoett
24, TF F T @ U TR €
(a) foem=-u (b) faeta=-ar
(c) foerfm-=t (d) faaim-2
5. UeA-ETSd T v faa S §
(a) T 0 STH % A | (b) 3T % SR % o |
(c) wfesal & HEror & o | (d) S H F FIE Tl
26. T VIR B it e e 3 et i o R el € 2
(a) @4 (b) Taifa=
(c) WA (d) ST § F FE T
27. Y Em A e ?
(a) O e SRIATFIES (b) 3 ETTEA
(c) B e (d) 3rg T
98, T, 1 A1 A S @ e A e ?
(a) TUEH (b) FII
(c) Hitert (d) WA
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29. The Blood Pressure in our body is
(a) Lesser than the atmospheric pressure
(b)  Greater than the atmospheric pressure
(¢)  Equal to the atmospheric pressure
(d) None of the above

30. Indian National Congress was established in

(a) 1857 AD. (b) 1858 A.D.
(c) 1885 A.D. (d) 1905 A.D.
31.  The First Indian Governor General of Independent India was
(a)  Dadabhai Naoroji (b)  Jai Prakash Narayan
(c) Abul Kalam Azad (d) C. Rajgopalachari
32.  Which of the following places is famous for Buddhist Cave Temples ?
(a) Elephanta : (b) Nalanda
(c) Ajanta (d) Khajuraho
3. Who declared the aim of Congress as ‘Purna Swarajya’ in the Lahore Session of Congress
19297
(a) Mahatma Gandhi (b) Motilal Nehru
(c) Jawaharlal Nehru (d)  Subhash Chandra Bose
34.  Who founded ‘Ram Krishna Mission’ in 1897 A.D.?
(a) Vivekanand (b) Ram Krishna Paramhansa
(¢)  Gopal Krishna Gokhale (d)  Shyamji Krishna Verma
35.  Who founded Calcutta ?
(a) John Surman (b) Vasco-da-Gama
(c)  Warren Hastings (d) Job Charnock
36. ‘Satyartha Prakash’ was written by
(a)  Raja Rammohan Roy (b)  Swami Dayanand Saraswati
(¢) Mahatma Gandhi (d)  Swami Vivekananda
37.  Udham Singh killed in London
(a) Lord Hording (b)  General Dyer
(¢c)  Sir Michael O’Droyer (d) Lord Willingdon
38.  Who among the following was not the Chief Minister of Uttar Pradesh ?
(a)  Govind Ballabh Pant (b) Hemwati Nandan Bahuguna
(¢) Krishna Chandra Pant (d) Narain Dutt Tiwari

39.  Who was the Author of “My Experience with Truth” ?
(a)  Rabindra Nath Tagore (b) Mahatma Gandhi
(c) Maulana Azad (d) Annie Besant
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(c) AR Te& (d) |qAEE TH
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41.

42.

43.

44.

46.

47.

48.

49.

50.

Who founded First Sanskrit Mahavidyalaya at Varanasi ?

(a) Jonathan Duncan (b) Warren Hastings
(c) Lorel Macaulay (d) Bankim Chandra
Who was the Congress President when India became free ?

(a) Mahatma Gandhi (b) Jawaharlal Nehru
(¢c) J.B. Kriplani (d) Sardar Patel

In which year the capital of India was transferred from Calcutta to Delhi ?
(a) 1901 (b) 1905

(c) 1911 (d) 1912

The Samadhi of Raja Rammohan Roy is in

(a) Kolkata (b) Patna

(¢c) Bristal, England (d) Canada

The people of Indus Valley Civilization worshipped

(a) Pashupat (b) Indra and Varuna
(¢c) Brahma (d) Vishnu

Which type of computers are the most widely used ?

(a)  Super Computers (b) Mini Computers
(¢c) Main Frame Computers (d) Micro Computers

The use of Computers in Governance is known as
(a) Computer Governance (b) e-mail Governance
(¢) Internet Governance (d) e-Governance

One Byte equals to how many Bits ?

(a) 8 (b) 16

(c) 24 (d) 32

Another name for computer programmes is

(a) Computer Hardware (b) Computer Software
(c) Computer Language (d) Computer Memory

Which is not the component of the computer ?

(a) Input Unit (b) Output Unit

(¢) Memory Unit (d) Basic Unit

Who is the Father of Computer ?

(a) John Napier (b) Charles Babbage
(¢) Charles Shobraj (d) Bill Gates
Binary numbers are

(a) Oand]l (b) Oand 10

(¢c) landl10 (d) 1 and 100

SET-A 10
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(a) TS A (b) @A e
(c) e HaTe (d) T ==

ST A T G 39 WA U % 7T i 4 7

(a)  HETeT I (b) ST ToE
(¢) . =l HACAH (d) TERIRA
Forr . A T A T § feorl SR T ?

(a) 1901 (b) 1905 (c) 1911 (d) 1912
TS TR T 90§

(a) SHICAFT H (b) YeATH

(c) foredt, drered (d) wTErH

T =T o T T R 4

(a) Ol (b) =% IR T H
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Fop R S TRl T WAl WA feRT e & 2

(a) W FEX (b) To1 Fg
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(a) 8 (b) 16 c) 24 d) 32
(a) T ETeaAL (b) TR AR
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T T FEE H F2 () TN 7

(a) FEIAE (b) 3T HE
(¢) THN HE (d) dre®gHe
(1) S AR (b) =Ted e

(¢) ToH FiETST (d) fa=Tzd
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52. O.M.R. stands for

(a)  Optical Mark Reader (b) Optical Machine Reader
(c) Octal Machine Reader (d) Octal Mark Reader
53. Which of the following is not an output device ?
(a) Monitor (b) Printer
(¢c) Mouse (d) Plotters

54. A man is facing North-West. He turns 180° in anticlockwise direction and then 135°
clockwise direction. Which direction he is facing now ?
(a) West (b) South-West
(¢) South-East (d) North

55.  The Median from the following data will be :
8001213091729

(a) 12 (b)y 16
(c) 11 (d 13
56. The next two numbers in the series 15, 25, 37, 51, 67, 85, would be
(a) 93,113 (b) 95,115
(c) 105, 127 (d) 95,125
57. If the product of two numbers is 320 and their ratio 1 : 5, then the sum of these two
numbers 1s
(a) 40 (b) 44
(c) 42 (d) 48
58. The missing number in the series 82, 97, 114, 2, 154 is
(a) 135 (b) 125
(c) 115 (d) 133

3 4
59. If the difference between 4 and 7 of a number is 100, then the number is

(a) 520 (b) 540
(c) 500 (d) 560
60. Extreme values do not affect
(a) Harmonic Mean (b) Geometric Mean
(c) Median (d) Arithmetic Mean
61. Rectangular diagram is a
(a) one dimensional diagram (b)  two dimensional diagram
(c) three dimensional diagram (d) multi dimensional diagram

62. Which of the following cannot be calculated by graphical method ?
(a) Mean (b) Median
(c) Mode (d) Quartiles
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62.

311 TH. 3R, & ared €

(a) 3ITIhed HTh TET (b) 3Trehet HIMH ST
(c) @feeet He= et (d) 2frereet a1 {eT
= 4 9 i @1 33eye fearzq A € ?

(a) HHAERX (b) =z

(c) W= (d) TR

U S STR-UTYEH Y 29§ @ ek @1 ¢ | 9 ATHIE S § 180° U FH AT € AT 3k a9
o <femTed e § 135° W H a1 & | 21 98 o6 feen § 4@ e =g @ ?

(a) Ti¥=H (b) =feor-afem
(c) Tregor-ga (d T™
f=Afettiae Tt & mfeTer 1 g eI
8,10, 12, 13, 15, 17, 20
(a) 12 (b) 16 (c) 11 d 13

ST 15, 25, 37, 51, 67, 85, H 30T & WA gt
(a) 93,113 (b) 95,115 c) 105, 127 (d) 95,125

3t TEATET T YU 320 € AT SHN A 1: 5 8, T WA BT AN B
(a) 40 (b) 44 (c) 42 (d) 48

ST 82, 97, 114, 7, 154§ faoqe wem it
(a) 135 (b) 125 ) 115 (d) 133

| e . .
Ife Topd} W= % < a9 = 9N &0 3% 100 €, Jf 9= el

4 |
(a) 520 (b) 540 c) 500 (d) 560
T | YT A8l hid

(a) BCHE HIH (b) TUTRR HTEA

(c) wfegat (d) EHR @R
A fag g s

(a) U - Tomr fa= (b) fg-Tamfe=

(c) Tr-Tamfax (d) =g - fam o=

T gRT 7 B | Teraeh! 10T 781 8 9ehell ?

(a) T (b) T

(c) goTh (d) =qa®
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63.

64.

66.

67.

68.

69.

70.

71.

72.

What is singular of data ?

(a) Datum (b) Dat

(c) Data (d) None of the above
The source of data are

(a) Primary only (b) Secondary only
(c) Primary and Secondary both (d) None of these

Study the following figure and choose the correct option :

Traders Rich

Options :
(a)  All rich people are traders (b) All traders are rich
(¢c) Some rich people are traders (d) Some traders are rich

In a firm the average salary of male employees was Rs. 520 and that of females was
Rs. 420. The overall average salary was Rs. 500. The ratio of male and female employecs
was

(a) 70:30 (b) 80:20

(e 822 (d) 82:18

What is the cost of an object which on being sold at Rs. 56, gives percentage profit
numerically to the cost price ?

(a) Rs.30 (b) Rs.50

(c) Rs.40 (d) Rs.35

If two jeans and three shirts cost Rs. 4,000 and three jeans and two shirts cost Rs. 3,500,
how much does a jean cost ?

(a) Rs. 1,500 (b) Rs. 1,000
(c) Rs.500 (d) Rs. 2,000
The Median of the observations 12, 18, 14, 19, 15, 20 1s

@) 155 (by 16.5

(c) 14.5 (d) 185
Standard Deviation is calculated on the basis of

(a) Mean (b) Median

(¢) Mode (d) Any of these
Which of the following is the most uncertain average ?

(a) Mode (b) Median

(¢c) Geometric Mean (d) Harmonic Mean

Which of the following is not one of the functions of plant roots 7
(a) Photosynthesis (b) Absorption of water
(c) Absorption of nutrients (d) Anchorage to plant
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66.

67.

68.

69.

ST T TR FE ?

(a) A (b) 3E

(c) ST . (d) SuFEd H A HIE T
Triehl % Eid Bl &

(a) et WS (b) et e

(¢) vmafes 7 fgetass 2= (d) =79 | HE T

et fru T formr T STeRE HIT SN WE fashed g

oo .
(a) @ & SAfe AR E (b) | AR A E |
(c) o &I AT FAIRE | (d) T AR EANE |

wtﬁﬁﬁwmwﬁeﬁwﬁlmanamszowﬁﬁmﬁﬁwaﬂwaﬁmno%laf"q'
Fequt S Fe BT 500 &, o ged ud e § S am
(a) 70:30 (b) 80:20 (c) 78:22 (d) 82:18

3 o ! hiFd 1§, o S0 56 7 S U AT TR ST qed o qod &l S ¢ ?

(a) 30 %®0d (b) 50 FTE (c) 40%7% - (d) 3589

o @ = T A TS % ST ST 4,000 @ 3R A Siey Ue < wEH % S SR 3,500 BT T U
T =T 519 3747 B 7 ‘

(@) L500%T (b)) 1,000%@  (c) 5009 (d) 2,000 T

JequTt 12, 18, 14, 19, 15, 20 67 HIEHH €

(a) 15.5 (b) 16.5 (c) 145 (d) 18.5
(a) #EAH (b) TR

(c) TgoHd (d) TFAIwEd

e § e e afvas oaa e ?

(a) TEAH (b) eI

(c) TOTI A (d) BTTeHeE T

foreg T, SR @, T Y STl o Ueh il el ¢ 7

(a) WISl H¥oIHOT (b) et =T STEIEOT

(c) I el T STareIeoT (d) T T TERT WG Al
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73.

74.

3.

76.

i f°

78.

79;

80.

River Bhagirathi is known as Ganga after its confluence with another river at
(a)  Vishnu Prayag (b) Dev Prayag
(¢) Karna Prayag (d) Rudra Prayag

What are Jhal, Bidai, Damama and Muryo ?
(a)  Religious places of Uttarakhand  (b) Hills of Uttarakhand
(c) Musical Instruments of Kumaun (d) Ornaments of Kumaun

Which Hill Station of Uttarakhand has been called as ‘Queen of Hills’ ?
(a) Ranikhet (b) Chakrata
(c) Nainital (d) None of the above

Who was the first Chief Minister of Uttarakhand State ?
(a)  Bhagat Singh Koshyari (b) Nityanand Swami
(c) N.D. Tiwari (d) None of the above

Which temple is famous for ‘Khudai Puja’ in Uttarakhand ?
(a) Kalika Temple (b) Kot Ki Mai
(¢c) Hokara Devi (d) Gaura Mai

According to 2001 Census, what is the literacy rate of males and females in Uttarakhand 2
(a) Males —83.1% Females — 59.5%
(b) Males —83.3% Females — 59.6%
(c) Males —83.8% Females — 59.2%
(d) Males —83.6% Females — 59.3%

Match the following Fairs/Festivals with their places and select the correct answer from the
code given below :

Fairs / Festivals Places

A.  Surkhanda Festival 1. Devidhura
B.  Jaul Jivi Fair 2. Purnagiri Temple, Near Tanakpur
C.  Purnagiri Fair 3. Dharchula
D.  Bagwal Fair 4.  Chamba
Codes :
A B C D
(a) 2 3 -+ 1
(b) 3 4 2 1
(c) 1 2 3 +4
(d) 4 3 2 1

Which of the following is consumed in the manufacture of Urea fertilizer ?
(a) Carbon dioxide (b)  Sulphur dioxide
(¢) Chlorine (d) Nitric acid
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T3,

74.

13

76.

77.

78.

79,

80.

It T2 T 27 A8 W TR T W GIH 2 o ShIR0T T A | S ST ¢ ?
(a) ooy wm (b) = WA
(c) U1 VAW (d) TE AN

(a) SOUEUES o YIS T (b) ITREUE T UBTSAT
(c) A F s (d) FHAY F TeA
STES & T A e F (fee ©IE) 98T ®i T FRI e ?
(a) TARE (b) THIAT

(¢) At (d) SUIF H G FIE TR
STMGUE T ol 94T Jw1 I 27 7

(a) 97T e FIvamt (b) o= @

(c) uA. el faamt (d) 3ugdea 9 @ HE TEl
TETE o7 % iU SaEve § i 9 AT afes € 7

(a) =TCTaRT TfX (b) FHZH AR

(c) BRI Sar (d) TRTEE

2001 I TATUAT % YR ITEUE T T Uqvrd To8 3 Aeenat & o 1€ ?
(a) Y& — 83.1% Hfee — 59.5%
(b) T — 83.3% Hiee — 59.6%
(c) TB — 83.8% Hieel — 59.2%
(d) T¥9 — 83.6% Hiegell — 59.3%

TETEVE o iR Hel/3eaat 1 3% T | Hel ey 3R T f§U MU e ¥ Wel 3T o =9
AT :

Hett/3ea =
A. @Y I . g
B.  Sirersiial #efr 2. TR #f=R, Fee - TR
C.  YUNRT Hefl 3. gREen
D. = 5ol 4,  =w
% :
A B G D
(a) 2 3 4 1
(b)y 3 4 2 1
(c) 1 2 3 4
(d) 4 32 1
fey = W FergepT ST T Sateh % Seared | far s g ?
(a) HET BE-3iTRIZS (b) HEH T[E-EAEE
(c) FERMA (d) rsies A
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81.

82.

83.

34.

85.

86.

87.

38.

89.

90.

Which, among the following crops, can be grown between Kharif and summer rice crops in
the Tarai region of Uttarakhand ?

(a) Mentha (b) Potato

(c) Pigeonpea (d) Wheat

Who is the President of Russia ?
(a)  Vladimir Putin (b) Dimitry Medvedev
(c) Boris Yeltsin (d) Sergei Ivanov

The word ‘Hindus’ in Article 25 of the Constitution of India does not include
(a)  Buddhists (b) Jains
(c) Parsees (d) Sikhs

Who among the following passed away on 25 July 1944 after a hunger strike of eighty four
days ?

(a) Nagendra Saklani (b) Molu Ram

(c) Ansuya Prasad Bahuguna (d) Shri Dev Suman

What was the real name of ‘Chandra Singh Garhwali’ ?
(a) Chandra Singh Negi (b) Chandra Singh Bhandari
(¢) Chandra Singh Kandari (d) Chandra Singh Bisht

In January 1921 on the bank of river Saryu, in which place a bow was taken not to give
‘Kuli Begar’ ?

(a)  Srinagar (Garhwal) (b) Chamoli

(c) Bageshwar (d) Someshwar

The Third Annual Meeting of Indo-U.K. Summit was held in October 2007 at
(a) New Delhi (b) London
(¢c) Shimla (d) Edinburgh

Which of the following amendments to the Constitution reduced the voting age to eighteen
years from twenty one years ?

(@ 61" (b) 57"

(c) 58" (d) 60"

Who is known as the Father of India’s ‘White Revolution’ ?
(a) Dr. Kurien Varghese (b) Dr. Hargovind Khurana
(c) Dr. Homi Bhabha (d) Dr. Rajendra Prasad

Where is the headquarters of the Tibetan Government-in-Exile situated ?
(a) Mussoorie (b) Dehradun
(¢) Shimla (d) Dharmshala
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

9 H M | FEe, STEVE & a9 § W% 3R U S i 9= H FHl & T97 308
Tl & ?

(a) T () (b) @

(c) 3w (d) T

FH & 2T HIFE 7

(2) TETSMR i (b) Teudl deaea

(c) EIRT FearaA (d) | AT

R Wiae o T 25 | v T’ o= foral wienfere 78t s ?

(a) STgl (b) ST

(c) URMEAr sl (d) ot

=R 157 1 73 ggaret o UvET 25 SO, 1944 i 7 7 Tyt gy gam 2
(a) AT T (b) T T

(c)  STIEAT TS TGO (d) it za g

S8 AT T STtera =T 377 a1 7

(a) =% e i (b) =% e e

(c) == g wver (d) ==

SRR 1921 H 7 § 9§ foh ®I9 W 99 71 % 92 W el s F 5 o 99 ot w2
(a) AR (TgETer) (b)  =HA

(c) amiweR (d) e

eel-4. 5. Trat §eier Y g it T 3R, 2007 | g% o

(a) =% feoen d (b) @=AH

(c) TmEenH (d) ufsFarmd

e = fopr Wifere eire 51 AR 1 o7 HE1 21 99 F T2 18 o e ?
(a) THFSAT (b) HHEAAT

(c) oFgear (d) @

YR ! “Toldl ShIT=<T o1 ST (v el ST & 2

(a) = FiET T (b) Bl BUNIE= AT

(c) BT Bt e (d) =f T TR

TaenTe foearel e ol 85 ey el (a8 7

(a) (b) ZEA

(c) Tormem (d) gHwITen
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91. Which one of the following Indian States has the largest sea coast ?
(a) Tamil Nadu (b) Andhra Pradesh
(¢) Gujarat (d) Maharashtra

92. On which river is the Koteshwar Dam being built ?
(a) Alaknanda (b) Birahi Ganga
(¢c) Dhauli Ganga (d) Bhagirathi

93. Which, among the following, is not a district of the Garhwal division of Uttarakhand ?
(a) Haridwar (b) Uttar Kashi
(c) Rudra Prayag (d) Champawat

94. Which Indian sportsman won three gold medals in Asian Games held at Doha ?
(a) Shamsher Jung (b) Mahendra Singh Dhoni
(c) Jaspal Rana (d) None of the above

95. How many PIN zones has India been divided into ?
(@ 5 (b) ©
() 7 (d) 8

96. How many recognised languages are in Indian Constitution ?
(a) 16 (b) 18
(c) 17 (d 19

97. Which country is called “Land of White Elephant™ ?
(a) China (b) Thailand
(¢) South Africa (d) South Korea

98. The age of a father 10 years ago was thrice the age of his son. Ten years hence, the father’s
age will be twice that of his son. The ratio of their present ages is

(a) 8:5 by 7:3
) 5:2 d 9:5

99. Graph is a medium for
(a) Collection of data (b)  Analysis of data
(c) Presentation of data (d) Summarisation of data

100. What percent is 1 minute 10 second to half an hour ?
(@) 25% (b) 3.89%
() 35% d 4%
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91,

92.

93.

94.

9s.

96.

7

98.

99.

100.

AfAtEd TR T 9 9 e gaifas qerar s ?

(a) dHerTS (b) Y WRW
(c) TR (d) Herrg
FIZTR ATy =1 THT07 fory 72 W R s T ?

(a)  ITAFART (b) T
(c)  dredt T (d) o
= 9, FF 91, STNEvS & TTgaTe] HUSH & U S99S T8 & 7
(a) BRER (b) TR
(c) & uam (d) =rEd

<181 UerErs well § e TRer faeret 3 6 @0l g5 i & 2

(a) SIS (b) e TG U

(c)  STEYTA oM (d) S o | FIE &
R &l feher T7 (PIN) &5 F ferafora fepam man & 2

(a) 5 (b) 6

(c) 7 (d) 8

IR Tiau™ # fhd=i a1 & 2

(a) 16 (b) 18

c) 17 (d) 19

for e <91 1 “varet g1t o i a1 ST 2 2
(a) == (b) 9T
(c) TI&TOT 2RI (d) o FARAT

10 9 I U AT =t S S0 G 1 3 Y A A <t | 97T F 79 = A% e F o [ g
1 ST &1 ST | 39 SeiHI 37 H ST 2

(@) 8:5 (by 7:3
€y 35:2 (dy 915

U, U HIEGH &

(a) oISl & UL I (b) el & fargaryoy &
(c) ST o URATFIOT il (d) TS & HITHI0T
Ay HE W | fe 10 SFe A T uava & 2

@ 25% (b) 3.89 %

(c) 3.5% d) 4%
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101.

102.

103.

104.

105.

106.

107.

108.

The diameter of earth is
(a) 8,000 km (b) 1,00,000 km
(c) 12,800 km (d) None of the above

A city has a population of 3,00,000 out of which 1,80,000 are males. 50% of the population
18 literate. If 70% of the males are literate, then the number of literate female is

(a) 30,000 (b) 54,000
(c) 24,000 (d) 60,000
If Chandra is shorter than Rina, Puja is taller than Sita and Sita is taller than Rina. who
among them is shortest ?
(a) Puja (b) Rina
(c) Sita (d) Chandra
‘Garu-Ghadi Yatra’ to Badrinath starts from
(a) Narendranagar (b) Haridwar
(¢) Rishikesh (d) Tehr
Match list-I and list-II and select the correct answer from the given code :
List-1 List-I1

A. Nalanda 1. Ashoka Pillar

B.  Sarnath 2. University

C.  Sanchi 3. Sun Temple

D.  Konark 4.  Stupa
Codes :

A B C D

(a) 1 2 4 3
(b) 2 | e 3
(c) 1 2 2 4
d 2 3 4 1
Who wrote ‘Malgudi Days’ ?
(a) R.K.Laxman (b) R.K. Anand
(c) R.K.Singh (d) R. K. Narayan
Under which Article of the Indian Constitution can the President be impeached ?
(a) Article 356 (b) Arucle 75
(c) Article 76 (d) Artcle 61
Who among the following cricketers has scored a Century in the first Twenty-Twenty
World Cup ?
(a)  Yuvraj Singh (India) (b) Mike Hussey (Australia)
(c)  Shahid Afridi (Pakistan) (d) Chris Gayle (West Indies)
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101.

102.

103.

104.

105.

106.

107.

108.

GeA & AT &
(a) 8,000 fet. (b)  1,00,000 ferHT,

(¢) 12,800 fem. (d) 3 | 9 HIE T

febell T2 T 3,00,000 FF SHE 7 1,80,000 T & | 50% ST W ¥ | 7K 70% TE & A

(a) 30,000 (b) 54,000
(c) 24,000 (d) 60,000
Al =T, T | B €, YT Hiem A e ¥ qe der 49 | ot 8, 6 2 wed st we ¥ 0
(a) 9T (b) T
(c) Jrar (d) ==1
FEATY % foTT Tg-aEt anr wwew g &
(a) TETRYA (b) wERA
(c) e d) fe=ia
-1 6l Gelt-11 & gafera i qor e fse 70 52 @ v 3w 9fm
git-1 gi-11
A, TR l. 39 &Y
B. @rAM 2. fovafamerm
C. = 3. AR
D. =mh 4. U
FT:
A B ¢, D
@ 1 24 3
® 2 1 4 3
ey 1 2 3 4
@ 2 3 4 1
TS S5 & odeh I & 7
(a) R, &, Tegor (b) M. . <
(c) 3. % e (d) 3. . AR
TS HTHT o fohar ST=eg % ee I W HeTtaaiT STl S aehdr & 2
(a) ST 356 FERT (b) FTWT 75 FEW
(c) S™T 76 & gRT (d) oT=T 61 FENT
e A W1 fofhex & et e Za=2t-2a=t favarsra  wrarer = 2
(a) Fas f8g (Re) (b) T &l (afferam)
(c) T¥MiEs STHAST (TThEar) (d) TR e (3% Toere)
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109.

110.

111,

112,

113.

114.

116.

117.

118.

119.

SET-A 24 KAN-(

In which of the following places of Uttarakhand Mahatma Gandhi stayed many days during

the Indian National Movement ?
(a) Mussoorie (b) Nainital
(¢) Kausani (d) Haridwar

‘Garhwal” Newspaper was published from
(a) Dehradun (b) Kotdwar
(¢c) Paun (d) Tehn

Who 1s known as ‘Kurmanchal Keshri’ ?
(a) Govind Ballabh Pant (b) Har Govind Pant
(c) Harsha Dev Oli (d) Badri Dutt Pandey

Who was known as ‘Garh Keshari’ ?
(a) Mukandi Lal (b) Ansuya Prasad Bahuguna
(c)  Bhairav Datt Dhuliya (d) Jodh Singh Negi

Which programme is named after Gaura Devi ?
(a) Mahila Rojgar Yojna (b) Kanya Dhan Yojna
(c) “Widow Welfare’ Yojna (d) Save Environmental Yojna

Which of the following mountain/hills are situated between river Narmada and Tapti ?
(a) Vindhya Mountain (b) Satpura Ranges
(¢c) Rajmahal Hill (d) Aravali Hills

. Who was the first Satyagrahi chosen by Mahatma Gandhi ?

(a) Vinobha Bhave (b) Sardar Vallabhbhai Patel
(c) Jawaharlal Nehru (d) Maulana Azad

In which year did the Cripps Mission come to India ?
(a) 1940 (b) 1942
(c) 1944 (d) 1946

Who among the following, is not a golf player ?
(a) Jeev Milkha Singh (b) Tiger Woods
(c) David Bekham (d) Jyoti Randhawa

Which of the following ‘terms’ is not related to the game of cricket ?
(a) Jockey (b) Crease
(c) Duck (d) Drive

‘Odissi” dance belongs to
(a) Kerala (b) Andhra Pradesh
(¢) Orissa (d) Tamil Nadu

=




109.

110.

/o 5 8

112.

1135

114.

115.

116.

117.

118.

119.

(a) T (b) =TT

(¢) =HIem=l (d) &BERER

TMEATA’ WHTER-T WehITeTd &iam 41

(a) TERAE (b) HERH

(c) Terd (dy feetrd

"FHIEA HE F AT G A S A ?

(a) TIE< Feery U= (b) & a9

(c) ®Y<T el (d) =TT Iwe

G HIRT A9 § BT uieg o 2

(a) TFERI A (b) YA THIE T[0T
(c) ¥Ra 3w yferan (d) iy fae =i

TIRT 22 & A | FiF @ g g ?

(a) HiEe ISR e (b) =T & AT

(c) ‘Tereram semor FremT (d) TETERT FETET G
FHTeaiad § | i 9 Tere/Sfort 991 iR aret 9k & = F fem & ?
(a) fo39ag (b) TagET AU

(c) ToTHES UEeaAt (d) 3Eer qeifeat
TETEAT T 5T W Saiqd e SRl S o 7

(a) TomTem 9= (b) WER TeoAd 9T WA
(¢) STEEe J6& (d) AT 3R

IRd I Toheq 199 fovg o o omar 2

(a) 1940 (b) 1942

(c) 1944 (d) 1946

e o, 1, e & el 781 & 2

(a) e foowar e (b) TR IEH

(c) Sfosamw (d) == wemE

=1 7 19 | vIEell e % O § IEtg Ter e ?

(a) SR (b) I

(c) % (d) g

‘Sifedr Io7 fhe T § gy & 2

(a) A (b) =T U

(c) 3 (d) dferTg
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120.

121.

122.

123.

124.

125.

126.

127,

128.

129.

In which year Fundamental Duties of Citizens were introduced by 42" Amendment ?
(a) 1976 (b) 1975
(¢) 1977 (d)y 1980

Which event occurred first ?

(a) Kheda Satyagraha (b) Civil Disobedience Movement
(¢) Non Co-operation Movement (d) Champaran Satyagrah
Who of the following gave up the title of “Sir" in protest against the Jalianwalla Bagh

incident ?

(a) Mahatma Gandhi (b) Jawaharlal Nehru
(¢) Rabindra Nath Tagore (d) Tej Bahadur Sapru
Which of following statements is not true for J awaharlal Nehru ?

(a) He was influenced by Socialism.

(b) 'He was influenced by British liberalism.

(¢c) He was influenced by Mahatma Gandhi.
(d) He was influenced by German Nationalism.

«“Vande Mataram” became the theme of Indian National Movement during
(a) Champaran Movement (b) Civil Disobedience Movement
(c) Non-Cooperation Movement (d) Swadeshi Movement

The British Government decided and declared to leave India by June 1948 in

(a) 1946 A.D. (b) February, 1947
(c) April, 1947 (d) June, 1947
The Quit India Movement started in

(a) July, 1942 (b) August, 1942
(c) September, 1942 (d) October, 1942
In which year Rabindranath Tagore died ?

(a) 1869 (b) 1911

(c) 1941 (d) 1765

Who founded the All India Harijan Sangh ?

(a) Mahatma Gandhi (b) Dr. Bhim Rao Ambedkar
(c) Narayana Guru (d) Vivekanand

Who of the following is not associated with the Bhakti Movement ?
(a) Vallabhacharya (b) Chaitanya
(¢)  Guru Nanak (d) Amir Khusro
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120. wfaem & ARER! 3 ot Feeal i e 423 Wi TN % §RT TR a9 & Tl ?
(a) 1976 (b) 1975
(c) 1977 (d) 1980

121, F= 1 =2 G T €8 7

(a) Wl HANE (b) Wl 37e=T SR
(c) ITEEaTT R (d) =HRT GEWE

122, T 5 9 e BT Stferataren s % foxiy 8§ T sury it 7 ?

(a)  TBTCHT e (b) STETETATA He&
(c) TE=1g &R (d) o FE_LHY

123, Fe1 T | STTeEel JeE % [ i W1 gaed e el € !
(1) o HHSTEE | qerfed 4 | (b) & fafeer Sarem ¥ wetad & |
(¢) o TETem Wil § yeted o | (d) o A I | uerfed 4 |

124, == TECT 66T ARAE T SR 0 T 5 2
(a) THERA AR (b) HiETE STET AR
(c) HATEAN A=RIAT (d) TR AR

125. Tafeer QTR 3 ST 1948 T A BIg 1 =HI5o7 i &ff |
(a) 1946 (b) T, 1947 H
(c) oW, 1947 ° (d) SH, 1947

126. TR BIEN A= IReY fomar o
(a) SIS, 19424 (b) T, 1942°H
(c) Taam=r, 19429 (d) 7R, 1942 H

127. A=A 200 1 gog fRE A g ot ?
(a) 1869 (b) 1911
(c) 1941 (d) 1765

128. #fEet YaTa ST 5 1 ST g i &7 ?

(a)  HETeHT e (b) i Wi\ IE FEETH
(¢c) ARG (d) foasE=
129. 907 5 T 1 U & AR 9 SIS Tl © 7
(a) AceTdrETd (b) wE=
(¢) T AH® (d) emR
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The Nationalist song ‘Aie Mere Watan Ke Logo’ had been written by poet

Pradeep
Maithilisharan Gupta

Pantnagar
Naini Allahabad

Which area of the following was not at all affected by the Mutiny of 1857 ?

Jhansi
Lucknow

Bangalore
None of the above

Quit India Movement
Gandhi-Irwin Pact

Rajagopalachari
Lord Minto II

B. R. Ambedkar
Rafi Ahmad Kidwai

Who proposed the Preamble before the Drafting Committee of the Constitution ?

B. R. Ambedkar
Mahatma Gandhi

Between which of the following was the ancient town of Takshashila located ?

Jhelum and Chenab
Ravi and Beas

130.

(a) Javed Akhtar (b)

(c) Ramdhari Sin gh Dinkar (d)
131. Where 1% Agriculture University of India was established ?

(a) Kumargan] Faizabad (b)

(¢) Kanpur (d)
132,

(a) Chittor (b)

(c) Jagdishpur (d)
133. Where was the 1* Engineering College of Asia established ?

(a) Chennai (b)

(c) Roorkee (d)
134. Which event occurred first ?

(a) Dandi March (b)

(c) Arrival of Simon Commission (d)
135. Who was the last Viceroy of India 4

(a) Lord Irwin (b)

(c) Lord Mountbatten (d)
136. The first Law Minister of Independent India was

(a) M. C. Sitalwar (b)

(c) Kailashnath Katju (d)
137. Cabinet means

(a)  All Ministers in the Governance

(b) Ministers with Cabinet Rank

(c) Cabinet Ministers and their Secretaries

(d) Ministers of State
138.

(a) Jawaharlal Nehru (b)

(¢) B.N.Rau (d)
139.

(a) . Indusand Jhelum (b)

(¢) Chenab and Ravi (d)
140.

Out of following cricketers who have scored Ten Thousands and more runs in Test Cricket
who has achieved this figure in least number of list matches ?

(b)
(d)

Brian Lara
Steeve Waugh

(a)
(c)
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Rahul Dravid
Sachin Tendulkar
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130.

131.

132,

133.

134.

135.

136.

137.

138.

139.

140.

T T T H S o A fH e o g forar T ?

(a) STEE &R GRT (b) VI ERT

(c) YR T&E g7t 5T (d) TIEATIROT T §RT
T T WA S fovaieraeTa et ST 5T T 41 ?

(a) RIS HeTETE (b) TR

(c) AR (d) =i TR
Pttt & 0 @1 81 1857 % famie ¥ forergper wefaa =&t o1 ?
(a) Tears (b)

(c) E'Iél?l‘}( (d) @I

T ST e ST ShieToT shel T {3 T o ?

(a) T2 (b) TR

(c) FEH (d) STIF T IS Tl
9 UEel i 9 g2 " ?

(a) T0SATE (b) WA BTSN RIAT
(c) TEH HHISH T ITHA (d) TI-gia FEEr
IR % 3aH TR A o ?

(a) O WA (b) ST
(c) TiE AE2aed d) wEfE=

W 9RE % vy fafues

(a) UH.E. Hiqeaars (b) 1.3IR. ESH
(c) RO eS| (d) T 27EES fhgaE
Ffae = aead &

(a) I % Gt HATOT : (b) fame TR & w4l

(¢) 370 | o are Shiae &R HA - (d) =g HATOT
HT ey WEf o G e i IRrET i e foha T ?

(a) STETRTATA Ae& (b) I.3TR. ITESH

(c) dL.UA. T3 (d) e T

e vTeT At TreTenEd § | foh o7 3 we fed °n ?

(a) Ty @i Sior o & (b) e IR fomE & &=
(c) Tema 2R et & &t (d) T SR AT & =i

é@ﬁﬂ?ﬁmmmmaﬁaﬂ?aﬁﬁaﬁﬁmﬁw&aﬁsﬁﬁﬁmﬁmﬁmmﬁﬁ
T 7% TSl e A e ?

(a) S TR (b) TEATES

(c) wadr (d) S dgeART
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150.

Who is the author of “My Country, My Life” 7

(a) Atal Bihari Bajpayee (b) A.P.J. Abdul Kalam

(¢) L.K.Advani (d) Jai Prakash Narayan

At which of the following places ‘Kumbh Fair’ will be organized in 2010 ?
(a) Prayag (Allahabad) - (b) Nasik

(¢c) Haridwar (d) Ujpain

Which one of the following countries will be hosting ‘Men’s World Cup Hockey
Tournament 2010 ?

(a) Japan (b) India

(c) China (d) Pakistan

Who wrote the play “Andher Nagari Chaupat Raja” ?

(a) Govardhan Ram M. Tripathi (b) Munshi Premchand

(¢c) Fakir Mohan Senapati (d) Bhartendu Harishchandra
The Mahakali Treaty is between India and

(a) Pakistan (b) Nepal

(¢) Bangladesh (d) Sri Lanka

Who was the person in India who conducted Census of Population for the first time ?
(a) Ripon (b) Lytton

(c) Dufferin (d) Lord Mayo

Which of the following countries measures its wealth on the basis of Gross National
Happiness and not on the basis of Gross National Product ?

(a) Nepal (b) Sri Lanka

(¢c) Bhutan (d) Burma

Name the Province in which ‘Teesta Hydro Electric Project’ is situated :
(a) Himachal Pradesh (b) Uttarakhand

(c) Arunachal Pradesh (d) Sikkim

The recent general elections held in Nepal for the

(a) National Assembly (b) Rashtriya Panchayat

(¢) Lower House of the Parliament (d) Constituent Assembly

[n which year 1* Democratic Elections were held in the Bhutan ?

(a) March 2008 (b) May 2007

(¢) April 2006 (d) June 2005
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“HTE g, H1E 5% o oEh o & 9

(a) 3T e oot (b) TS, TsgeT ey
(c) UAF. =g (d) =TT Uehr9T ARTIOT
W@ﬁﬁ%wwzmo#@ﬁwaﬁrwmm?

(a) TN (TSTRTER) (b) T
(¢) ©BRER (d) T

T A o B e 2010° FeAferta & @ fay v amaifore fa s 9
(a) STOME (b) 9nrq

(c) (d) TrferEar

(a) TIieEET 9 . (b)  Hit v

(c) TREPR Hied I-9iq (d) ¥RA=S gve=
TRTRTeA! T 1 9 39 o 2T e &

(a) IR (b) AT

(c) e (d) it &ier

€ I AT 91, 593 IRT ¥ veet AR STEEAT 1 SO ST 2
(a) To= (b) Terea

(c) =wiA (d) TS g9

FF1 5 1 1 3 ST e e U T & R TR AT & 7 fof Tohet TS 39T F 3R
7

(a) =OTeT (b) &t e

() Y™ (d) ==

T ST e wias fory T  Rerer & 9

(a) TeHm=e wewT (b) TWEUE

(c) TBUITEeT U9 (d) fafEwg -

T 7 81 § BT A1 A7 o

(a) IS wETEA % ferm | (b) T T F fom |
(c) HEE & Hael 59 % fom | (d) wioaM T % feg |
Wﬁmwwm%mwﬁmaﬁﬁmgq?

(a) =T 2008 (b) = 2007

(c) 3T 2006 (d) 2005
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